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1.Given:

20. public class CreditCard {

21.

22. private String cardID;

23. private Integer limit;

24. public String ownerName;

25.

26. public void setCardInformation(String cardID,
27. String ownerName,

28. Integer limit) {

29. this.cardID = cardID;

30. this.ownerName = ownerName;

31. this.limit = limit;

32.}

33.}

Which statement is true?

A. The ownerName variable breaks encapsulation.
B. The class is fully encapsulated.

C. The cardID and limit variables break polymorphism.
D. The code demonstrates polymorphism.

E. The setCardinformation method breaks encapsulation.
Answer: A

2.DRAG DROP
Click the Task button. ?

Given MurberHames nn = new HumberNames():

nn.puti"one", 1)

System.out . printlninn. getHamnes({)):
Flace the code into position to create a class that maps from Strings to integer values.
The result of execution must be [ong]. Some aptions may be used mare than once.

public class HumberHames {
private HashMaps] Flacehere | . [ Flacehere | » map =

new HashWap<] Placehere | . [ Flacehere | [ Flacehere |

public void puti{String name., int walue) {
map.put{] Flacekhere | . [ Flacshere | )
1
public | Place here | getHanes({) {
return map, kevSet();
1
H

Strine | [ Tnteger | | int ] | : ]

ey, J[ mems ([ welwe [ wepl |

[
[
[ Seteints | | SetiInteger: | [ Ha=hSet |
f
[

SetiInteger String: | [ Setdint String: | [ Set<String Irnteger: |

Cetxbiring, ants ] | SetiString: | ] HunberHanes |

Answer:



Given, FurberNames non = new NumberNames():
nh.puti"one", 1}
Systemn. out prlntln(nn getHames(1):

Place the code into position to create a class that maps from Strings to integer values.
The result of execution must be [one]. Some options may be used maore than once.

public class HunberHames {
private Hashlap<|

ney HashMap:

public woid put{String name. int value) {
map.put | E

3.DRAG DROP
Click the Task button.
The image at right represents a complete package structure

for a set of classes: "com” is the beginning of the fully- 3 com
qualified package name for all classes. — 0D 1o
Given this package structure, insert the code needed to make |_ El'l bar
the Car class',c_ump'ile and run successiully. B
All three placeholders must be filed. If fewer than three @ g ries
statements are needed, use the "/ blank" option. D blatz
| - | L [ ookt
| Place hete | _ﬁ bar
= |_ EI Car class
| lasehers: | £ itz
public class Car { L@Sun.clasa
Boolk boolk ;
Dog dog:

Answer:



The image at right represents a complete package structure

for a set of classes; "com” is the heginning of the fully- =l [f'_:'m
gualified package name for all classes. — ' fan
Given this package structure, insert the code needed to make £ bar
the Car class compile and run successfully. | s
All three placeholders must be filled. If fewer than three @ J
statements are needed, use the " blank" option. I blatz
packags com bar: | @ Book class
package confoo.bar blatz. _:iﬁhar
@ Car class
import com foo bar Book: I L_-:l blatz
public cla=s=s Car { L@Sun.claas
Book book;
Dog dog;
LImportocon, oo bar-blats % package com, foo bar blatz. J
Inport con. bar* | IMpOTt: Con. %
packaoes EEm har . package Comn -]
INport con., foo * 2 plank

mport oo, foocbar. #* . import com foo bar Book

4 Which three statements concerning the use of the java.io.Serializable interface are true? (Choose
three.)

A. Objects from classes that use aggregation cannot be serialized.

B. The values in fields with the transient modifier will NOT survive serialization and deserialization.
C. It is legal to serialize an object of a type that has a supertype that does NOT implement
java.io.Serializable.

D. The values in fields with the volatile modifier will NOT survive serialization and deserialization.

E. An object serialized on one JVM can be successfully deserialized on a different JVM.

Answer: B,C,E

5.Which two code fragments will execute the method doStuff() in a separate thread? (Choose two.)
A. new Thread() {

public void start() { doStuff(); }};
B. new Thread() {

public void run() { doStuff(); }};

C. new Thread(new Runnable() {
public void run() { doStuff(); }
})-start();

D. new Thread() {

public void start() { doStuff(); }
}.run();

E. new Thread(new Runnable() {
public void run() { doStuff(); }

}-run();
F. new Thread() {



public void run() { doStuff(); }
}.start();
Answer: CJF

6.Given:

12. import java.io.*;

13. public class Forest implements Serializable {

14. private Tree tree = new Tree();

15. public static void main(String [] args) {

16. Forest f = new Forest();

17. try {

18. FileOutputStream fs = new FileOutputStream("Forest.ser");
19. ObjectOutputStream os = new ObjectOutputStream(fs);
20. os.writeObject(f); os.close();

21.} catch (Exception ex) { ex.printStackTrace(); }

22.}}

23.

24. class Tree {}

What is the result?

A. An exception is thrown at runtime.

B. An instance of Forest is serialized.

C. An instance of Forest and an instance of Tree are both serialized.
D. Compilation fails.

Answer: A

7.Given:

1. interface TestA { String toString(); }

2. public class Test {

3. public static void main(String[] args) {

4. System.out.printin(new TestA() {

5. public String toString() { return "test"; }

6.});

7.}

8.}

What is the result?

A. null

B. An exception is thrown at runtime.

C. Compilation fails because of an error in line 5.
D. Compilation fails because of an error in line 4.
E. Compilation fails because of an error in line 1.
F. test

Answer: F

8.DRAG DROP
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Click the Task button.

Given: NumberNames nn = new NumberNames () ;
nn.put ("'one". 1);
System.out.println(nn.getNames());

Place the code into position to create a class that maps from Strings to integer values.
The result of execution must be [one]. Some options may be used more than once.

public class NumberNames {

private HashMap<l Placehere Place here S map =
new HashMap<1l Placehere Placehere ||  Placehere
public void put (String name, int value) {
map.put< Placehere I Placehere | );
H
pubd | Place here getNames () {
return map keySet () ;
¥
H
— i ] |
- TR ] j _ I I int
] value | |
I
nteger
> () 1 name
Set<int> 1
set=integerm=rre~> 11 Set<int, String> ilSet<String,Integer> [
Done
Set<String, int> Il Set<String> Il NumberNames
Answer:
Given: NumberNames nn = new NumberNames () ;
nn.put ("one". 1);
System.out.println(nn.getNames());
Place the code into position to create a class that maps from Strings to integer values.
The result of execution must be [one]. Some options may be used more than once.
public class NumberNames {
private HashMap< -- e dNAR I > map =
new HashMap<e == :=d [ S I | String
public void put(Stri_n% naine, int value) {
map putdq - int ;
¥
public [ Set<Integer,String> ) getNames () {
return map.keySet () ;
¥
H
String |l | Inteqer I I int )[
> () I I n.=rn.=: I i value ! [ map J
Set<int> 11 Set<Integer> ] ] HaShSet
| St<Inseger Stfing> |'f:set<int. String> I Set<String,Integer>|
. Done
Set<String, int> Ji Set<String> 1 [ NumberNames 1
9.Given
B public class Boxer1{
2. Integer i;

3.int x;
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4. public Boxer1(int y){
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5. x = ity;
6. System.out.printin(x);
7.}

8. public static void main(String[] args) {

9. new Boxer1(new Integer(4));

10.}

11.}

What is the result?

A. Compilation fails because of an error in line 5.
B. A NullPointerException occurs at runtime.

C. Compilation fails because of an error in line 9.
D. A NumberFormatException occurs at runtime.
E. The value "4" is printed at the command line. F.
An lllegalStateException occurs at runtime.
Answer: B

10.Given:

10: public class Hello {

11: String title;

12: int value;

13: public Hello() {

14: title +=" World";

15:}

16: public Hello(int value) {
17: this.value = value;

18: title = "Hello";

19: Hello();

20:}

21:}

and:

30: Hello ¢ = new Hello(5);
31: System.out.printin(c.title);
What is the result?

A. The code runs with no output.
B. Hello

C. Hello World 5

D. Compilation fails.

E. An exception is thrown at runtime.
F. Hello World

Answer: D

11.Given:
10. class Line {
11. public class Point { public int x,y;}
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12. public Point getPoint() { return new Point(); }
13.}

14. class Triangle {

15. public Triangle() {

16. // insert code here

17.}

18.}

Which code, inserted at line 16, correctly retrieves a local instance of a Point object?
A. Point p = (new Line()).getPoint();

B. Line.Point p = Line.getPoint();

C. Point p = Line.getPoint();

D. Line.Point p = (new Line()).getPoint();
Answer: D

12.Given:

11. // insert code here

12. private N min, max;

13. public N getMin() { return min; }

14. public N getMax() { return max; }

15. public void add(N added) {

16. if (min == null || added.doubleValue() < min.doubleValue())
17. min = added;

18. if (max == null || added.doubleValue() > max.doubleValue())
19. max = added;

20.}

21.}

Which two, inserted at line 11, will allow the code to compile? (Choose two.)
A. public class MinMax<?> {

B. public class MinMax<N extends Object>

{ C. public class MinMax<N extends Integer>

{ D. public class MinMax<? extends Object>

{ E. public class MinMax<N extends Number>

{ F. public class MinMax<? extends Number>

{ Answer: C,E

13.A developer s creating a class Book, that needs to access class Paper. The Paper class is deployed in
a JAR named myLib.jar.

Which three, taken independently, will allow the developer to use the Paper class while compiling the
Book class? (Choose three.)

A. The JAR file is located at $JAVA HOME/jre/classes/myLib.jar.

B. The JAR file is located at /foo/myLib.jar and the Book class is compiled using javac -d

ffoo/myLib.jar Book.java

C. The JAR file is located at /foo/myLib.jar and a classpath environment variable is set that

includes /foo/myLib.jar/Paper.class.
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D. The JAR file is located at $JAVA_HOME/jre/lib/ext/myLib.jar..

E. The JAR file is located at /foo/myLib.jar and the Book class is compiled using javac -classpath
/foo/myLib.jar Book.java

F. The JAR file is located at /foo/myLib.jar and the Book class is compiled using javac -cp
/foo/myLib.jar/Paper Book.java.

G. The JAR file is located at /foo/myLib.jar and a classpath environment variable is set that includes
ffoo/myLib.jar.

Answer: D,EG

14.Given:

10. public class SuperCalc {

11. protected static int multiply(int a, int b) { return a * b;}
12.}

and:

20. public class SubCalc extends SuperCalc{

21. public static int multiply(int a, int b) {

22.int ¢ = super.multiply(a, b);

23. return c;

24.}

25.}

and:

30. SubCalc sc = new SubCalc ();

31. System.out.printin(sc.multiply(3,4));

32. System.out.printin(SubCalc.multiply(2,2));
What is the result?

A. Compilation fails because of an error in line 31.
B. The code runs with no output.

C.12

D. Compilation fails because of an error in line 22.
E. An exception is thrown at runtime.

F. Compilation fails because of an error in line 21.
Answer: D

15.Given:

12. NumberFormat nf = NumberFormat.getinstance();
13. nf.setMaximumFractionDigits(4);

14. nf.setMinimumFractionDigits(2);

15. String a = nf.format(3.1415926);

16. String b = nf.format(2);

Which two statements are true about the result if the default locale is Locale.US? (Choose two.)
A. The value of a is 3.1415.

B. The value of ais 3.14. C.

The value of a is 3.141. D.

The value of b is 2.
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E. The value of b is 2.0000.
F. The value of a is 3.1416.
G. The value of b is 2.00.
Answer: F,G

16.Click the Exhibit button.
Which statement is true about the two classes?

SomeException:

1. public clas=s SomneException |

2.}
Class A

1. public clas=s A {
AL public woid doSomethingi() { F
3

Class B

1. public cla== B extend=s A& {
2 public void doSomething() throws
SomeException £

A. Compilation of class B will fail. Compilation of class A will succeed.
B. Compilation of class A will fail. Compilation of class B will succeed.
C. Compilation of both classes will fail.

D. Compilation of both classes will succeed.

Answer: A

17.Given:

11. class ClassA {}

12. class ClassB extends ClassA {}
13. class ClassC extends ClassA {}
and:

21. ClassA p0 = new ClassA(
22. ClassB p1 = new ClassB(
23. ClassC p2 = new ClassC();

24. ClassA p3 = new ClassB();

25. ClassA p4 = new ClassC();

Which three are valid? (Choose three.)

)i
).

A. p2 =p4;
B. p2 = (ClassC)p1;
C. p0 =p1;
D. p2 = (ClassC)p4;
E. p1=p2;

F. p1=(ClassB)p3;
Answer: C,D,F

18.Given this method in a class:
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21. public String toString() {

22. StringBuffer buffer = new StringBuffer();

23. buffer.append('<');

24 buffer.append(this.name);

25. buffer.append(>");

26. return buffer.toString();

27.}

Which statement is true?

A. This code will perform well and converting the code to use StringBuilder will not enhance the
performance.

B. This code will perform poorly. For better performance, the code should be rewritten: return "<" +
this.name + ">";

C. This code is NOT thread-safe.

D. The programmer can replace StringBuffer with StringBuilder with no other changes.
Answer: D

19.DRAG DROP
Click the Task button.

Flace the code elements into the class sothat the code compiles
and prints "Run. Fun. dolt." in exacthy that order. Mote that there
may be mare than one correct solution.

public class TesTwo extends Thread {
public =tatic void main (String[] a) throws Exception {
Te=Two t = new TesTwol):
t.=tarti);

| Place here |

[ Placehere |

: [ Flacehere |

public woid runi) {
Syztemn . out print{"REun. ")

public void doIt{) {
Syzten.out .print{"dolt. "i:
1
1

[t =tarttls | [ E doanl)s | [t peuself0)] | LR |

[CTEEautys | ot | [ Setiiye
Driore I

Answer:
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Flace the code elements into the class so that the code compiles
and prints "Fun. Fun. dolt" in exactly that order. MNote that there
may be moare than one correct solution.

public class TesTwo extends Thread £
public static woid main (String[] a) throws Exception {
Te=Two t = new TesTwol):
t.=tart(l;

[ e e o]
|+ pausefin):|]
T

public woid runi) £
Syztem.out print{"Run. "):

T
miblic void dolti)
Sv=ten.out printi"deolt. "i:

i
¥
[-t,siartfﬁ;"][_f jurﬁfﬁ_ fri.PauseﬂjﬁTix runii; j
S vra o Do J W | O S

Dione

20.Click the Exhibit button.
What two must the programmer do to correct the compilation errors? (Choose two.)

1. public class Car {

2 private int wheslCount:
3 private String wvin;

4. public Car{String winl {
5. thi=. . wvin = win;

& thi=. wheelCount = 4;

7
]

1
public String driwveil)

9. return "zoom—zoom”
10. T
D 5 public String getInfol) {
15 return "VIHN: " + vin + " wheels: " +
wheesl Count ;
13 T
14, *
And:
1. public class MeGo emxtend=s Car {
& public MeGo(String wvin)
3. thi=. wheelCount = 3:
4 T
5. ¥

A. change the wheelCount variable in Car to protected

B. insert a call to this() in the MeGo constructor

C. insert a call to this() in the Car constructor

D. insert a call to super(vin) in the MeGo constructor

E. insert a call to super() in the MeGo constructor

F. change line 3 in the MeGo class to super.wheelCount = 3;
Answer: AD
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